Method 1

1. Fit Equation (In(Nt)=In(NO)+In(R)*t ) to data for X years
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2. Based on line fit, project population (applying error to the estimate)
forward d years and repeat J times

3. Calculate probability of going below threshold th over d years

4. Move window one year ahead, refit equation to new data and repeat 2-3
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Alewife Examples
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Monument River Results
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Blueback Herring Examples



CT River Blueback
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Method 2

1. Determine if environmental variables can explain variation in recruitment of stock
assessment model (Deriso et al. 2008)
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2. If significant, analyze environmental variables for time trends and project or get
climate change predictions
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Method 2

3. Project a population forward d years in time using error in starting N values,
incorporating error and projected environmental variation in stock recruitment
equation; repeat J times

Projections of Monument River Population
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4. Calculate probability of going below threshold th over d years

Probability of Monument River Population Going Below Thresholds
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